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1
Introduction
RAN1 initiated calibration for MIMO link and system level evaluations in email thread [86-20] [1]. In this contribution, we provide our observations based on the submitted link level calibration results. 
2
Discussion 
Fig1 show link level simulation results from DL receiver. The simulation assumptions are listed in the Appendix.

It is observed that simulated channel model is artificial and not matching into any CDL channel models defined in TR38.900 [2] and is therefore suitable only for calibration case. Simulation results are based on best beam selection being close to strongest cluster.
Observation 1: Calibrated channel model is not fully compatible with CDL channel models due used TX and RX angle assumptions for calibration case.
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Figure 1. Wideband SNR distribution with beamforming for calibration case.
3
Conclusion 

In this contribution, we provide link level calibration results for NR MIMO based on email thread [86-20]. In addition following observation was made on simulations assumptions.
Observation 1: Calibrated channel model is not fully compatible with CDL-A channel model due TX and RX angle assumptions for this calibration case.
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Appendix
	Attributes
	Values or assumptions

	Carrier frequency  
	30GHz (subcarrier spacing 60kHz)

	Channel model  
	Modified CDL-A channel model from e-mail thread [86-20], 100ns delay spread, 3km/h

	BS antenna configuration  
	(M,N,P,Mg,Ng) = (4,8,2,2,2)

	BS antenna pattern  
	Follow the e-mail thread [86-20] assumptions  

	BS antenna element gain + connector loss  
	8 dBi, including 3dB cable loss  


	UE antenna configuration 
	(M, N, P, Mg, Ng) = (2, 4, 2, 1, 2)
Θmg,ng=90; Ω0,1=Ω0,0+180;



	UE antenna pattern  
	Follow the e-mail thread [86-20] assumptions  

	Receiver
	SU-MIMO with rank=1, SNR=0dB, beam pairing maximizes received signal power
 

 


